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Combined Graduate Level Examination

SSC CGL 2017 EXAM PAPER : Held on 17-AUG-2017 Shift-2

(M athematics)
QID : 151 - What isthe value of 9991 x 100097
Options:
1) 99999099
2) 99999819
3) 99999919
4) 99999019
Correct Answer: 99999919

QID: 152- A can do 1/3rd of ajob in 3daysand B can do half of thejob in 9 days. If they work
on it together, then in how many days can they finish half of the job?

Options:

D4

2)5

3)6

4) 3

Correct Answer: 3

QID : 153- What isthearea (in sq cm) of arhombusif the lengths of its diagonals are 25 cm and
20cm?

Options:

1) 500
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2) 250
3) 125
4) 200
Correct Answer: 250

QID : 154 - If ashopkeeper sellsan item at Rs 4200 which is marked as Rs 4800, then what isthe
discount (in %) that heis offering?

Options:

1) 125

2) 14.28

3) 10

4) 15

Correct Answer: 12.5

QID : 155 - Theflight fare between two citiesisincreased in theratio 11:13. What isthe increase
(in Rs) inthefare, if theoriginal fare was Rs 121007

Options:

1) 14300

2) 2200

3) 22000

4) 1430

Correct Answer: 2200

QID : 156 - 3 numberswhose averageis 112, thefirst number is 1/6th the sum of other 2. What is
thefirst number?

Options:
1) 45
2) 30
3) 15
4) 48

Correct Answer: 48

QID : 157 - A trader buys 800 kgs of tomatoesfor Rs 7200. 10% tomatoes are damaged in
transportaion. At what rate (R¥Kg) should he sell therest to earn 30% profit?

Options:
19

2) 13
3) 10
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4) 12
Correct Answer: 13

QID : 158 - A student hasto secure 35% marksto passin a subject. If he gets 82 and fails by 23
marks. What isthe maximum marks of the subject?

Options:
1) 300
2) 250
3) 350
4) 400

Correct Answer: 300

QID : 159 - A spaceship travelsat 810 km/hr. How many metres doesit travel in 1/5th of a
second?

Options:
1) 60
2) 45
3) 75
4) 90

Correct Answer: 45

QID : 160 - If theamount received at the end of 2nd and 3rd year as Compound Interest on a
certain Principal isRs 2100, and Rs 2268 respectively, what istherate (in %) of interest?

Options:

17

2)8

3)9

4) 10

Correct Answer: 8
QID: 161 - If 5x - (1/2)(2x -7) = 5.5, then what isthe value of x?
Options:

1) 3/2

2)1/2

3)-1/2

4) -3/2

Correct Answer: 1/2
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QID:162-1f a+b=4and ab = -5, then what isthe value of as + b3?
Options:

1) 34

2) 36

3) 124

4) 126

Correct Answer: 124

QID : 163 - The sum of a number and 4 timesitsreciprocal is5. What isthe number?
Options:

D4

2)5

3)6

4) 7

Correct Answer: 4

QID : 164 - The 3rd and 8th term of an arithmetic progression are-13 and 2 respectively. What is
the 14th term?

Options:

1) 23

2) 17

3) 20

4) 26

Correct Answer: 20
QID : 165 - What isthereflection of the point (4, -3) in theliney = 1?
Options:

1) (41 _5)

2) (4,5)

3) (-4,-5)

4) (-4, 5)

Correct Answer: (4, 5)

QID : 166 - In what ratio doesthe point T(x, 0) divide the segment joining the points §(5, 1) and U
(-1,-2)?

Options:
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DH2:1

2)1:2

3)3:1

4)2:3

Correct Answer: 1: 2
QID : 167 - At what point doestheline 3x + 2y = 12 cutsthe Y -axis?
Options:

1) (0, 6)

2) (0, -6)

3) (6,0)

4) (-6, 0)

Correct Answer: (0, 6)

QID : 168 - The areas of two similar triangles AABC and APQR are 121 sg cms and 64 sg cms
respectively. If PQ = 12 cm, what isthelength (in cm) of AB?

Options:

1) 7.25

2) 6.25

3) 16.5

4) 5.25

Correct Answer: 16.5

QID : 169 - What isthe value of Tan 600 + Cosec 600?
Options:

1) 5/3

2) 23

3) 53

4) 2/3

Correct Answer: 5/V3

QID:170- A XYZisright angled at Y. If m«Z = 60°, then what is the value of (1/V2) Sec X?
Options:

1) 23

2) 1V6

3) 13
4) 216
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Correct Answer: 2/V6
QID: 171 - If Cosec 6 = 17/8, then what isthe value of Cos6?
Options:

1) 15/8
2) 15/17
3) 8/15
4) 17/15

Correct Answer: 15/17

QID: 172 -

The bar graph shows GOP for the year 2016 In billion USD of six countries
(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
foliowing questions.

R Tw at w16 vE Sy wEwls wie & oF & (A,8,6,0,6F)
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Which country isthethird biggest in terms of Gross Domestic Product (GDP)?
Options:

DA

2)C

3 E

4 F

Correct Answer: C

QID: 173-
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The bar graph shows GDP far the year 2016 In billion USD of six countries
(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

R Tw at w16 vE Sy wEwls wie & oF & (A,8,6,0,6F)

&1 WhE 0T I (3RE A sreR A) gaffar B 59 v @ e
# MR farafaf@a wal & 3eR &)

120
E 100
100 90
£ 80 70
g% 40 30
it r I
: O
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Country / &%

By what amount (in billion USD) isthe Gross Domestic Product (GDP) of Country A lesser than
that of Country F?

Options:

1) 20

2) 50

3) 25

4) 40

Correct Answer: 40

QID : 174-
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The bar graph shows GDP far the year 2016 In billion USD of six countries
(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

R Tw at w16 vE Sy wEwls wie & oF & (A,8,6,0,6F)

&1 WhE 0T I (3RE A sreR A) gaffar B 59 v @ e
# MR farafaf@a wal & 3eR &)

120
E 100
100 90
£ 80 70
g% 40 30
it r I
: O
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Country / &%

What istheratio of Gross Domestic Product (GDP) of Country E to Total of GDPs of countriesA,
C and F taken together?

Options:

1)3:5

2)5:3

3)9:5

4)5:9

Correct Answer: 3: 5

QID: 175-
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The bar graph shows GDP far the year 2016 In billion USD of six countries

(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

R Tw at w16 vE Sy wEwls wie & oF & (A,8,6,0,6F)

&1 WhE 0T I (3RE A sreR A) gaffar B 59 v @ e
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If the combined GDP of the six countries has grown by 50% in the last decade, then what was
their combined annual Gross Domestic Product (in billion USD) befor e 10 year s?

Options:
1) 540
2) 180
3) 240
4) 200

Correct Answer: 240
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